Allgemeiner Teil

Name: Klasse:
1. Berechne:
a) b)
7 350 + 200 = 5000 — 900 =
34 300 + 12000 = 33400 — 22000 =
2500 + = 10000 20 000 — = 18 000
C) d)
4 0 21 = 360 : 60 =
5 [I7 000 1500 : 5
7 0 = 4200 480 : = 60

2. Uberschlage und kreuze das richtige Ergebnis an:

a)17 855 — 9834 =
b)292 « 9 =

3. Rechne schriftlich:

O 2691
() 2628

O 8021
() 3268

O 88031
() 27668

a) 123,66 + 86,11
b) 56,432 - 4,331

c) 167,05 « 6
d) 125,75 : 5

4. Setze die Rechenzeichen ( +, -,

a)6© 6@6=30

", 1) so ein, dass die Aufgabe stimmt!

b)56© 8@83=90
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